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SECTION A

Answer ALL questions. Write your answers in the spaces provided.

1. A university foreign language department carried out a survey of prospective students to
find out which of three languages they were most interested in studying.

A random sample of 150 prospective students gave the following results.

Language

French Spanish Mandarin

Male 23 22 20

Gender
Female 38 32 15

A test is carried out at the 1% level of significance to determine whether or not there is
an association between gender and choice of language.

(a) State the null hypothesis for this test.

(b) Show that the expected frequency for females choosing Spanish is 30.6

(c) Calculate the test statistic for this test, stating the expected frequencies you have used.

(d) State whether or not the null hypothesis is rejected. Justify your answer.

(e) Explain whether or not the null hypothesis would be rejected if the test was carried
out at the 10% level of significance.

(1)

1)

3)

2

1)

J
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2. The discrete random variable X has probability distribution given by

X -1 1 2 3
P(X =x) c a b c
The random variable ¥ =2 — 5X
Given that E(Y) =—4 and P(Y > -3) = 0.45
(a) find the probability distribution of X.
(7
Given also that E(Y?) =75
(b) find the exact value of Var(X)
(2
(¢) Find P(Y > X)
(2
L J
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( )

3. Two car hire companies hire cars independently of each other.
Car Hire A hires cars at a rate of 2.6 cars per hour.
Car Hire B hires cars at a rate of 1.2 cars per hour.

(a) In a 1 hour period, find the probability that each company hires exactly 2 cars.
(2)

(b) In a 1 hour period, find the probability that the total number of cars hired by the two
companies is 3

(2)

(c) In a 2 hour period, find the probability that the total number of cars hired by the two
companies is less than 9

(2)
On average, 1 in 250 new cars produced at a factory has a defect.

In a random sample of 600 new cars produced at the factory,

(d) (1) find the mean of the number of cars with a defect,
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(i1) find the variance of the number of cars with a defect. e
@ 5

(e) (1) Use a Poisson approximation to find the probability that no more than 4 of the SRR
cars in the sample have a defect. s

XX
?&
A%
R

(i1) Give a reason to support the use of a Poisson approximation. SIS

S
09367611082

B o

BB
Thad
Ve
Q.V V.
KK

0%
2
o
.:.:
!

X
oY

<
3
3K
0%}
R
o,

00099,
939.%
%& g
A
a
%%
XXX
3

%
005
NEOY
[N
R
00098
RRRK

6% 0%
LIEL
oY% %
X

SEREIRR
L
S X,
55
TS
09010008
s
SPIP
S,
S
S5m0
KoK
65
oSere%r f..
SRS
SRS
SRS
SRS
SXNIAIKS
LR
Dodes - 2020
LS
..Q‘ 0.0".‘
SKBRYKS
LB
PP
SRPPRKS
q;?%p
KBRKK
o aeoeet
q&pq&f
2R
6%%%%?
KRRKL
SRS
888
Do%es
SRS
SRR
R
K
LRRE
¢ PR
SRRLLRS

216 Pearson Edexcel Level 3 Advanced Subsidiary GCE in Further Mathematics - Sample Assessment Materials -
Issue 1 - August 2017 © Pearson Education Limited 2017



< K x
B
SRS

S
0%t oo
CEARLSKL
! L
QRBRKRL
09656%%%

XKL
0%l %
000" a%%
%t o%

QRIGEKS
KK o5
s
2ol < < g%
SRR

&
SR
S
KX
SRR
o

7

Question 3 continued

Pearson Edexcel Level 3 Advanced Subsidiary GCE in Further Mathematics - Sample Assessment Materials -
Issue 1 - August 2017 © Pearson Education Limited 2017

217




r D

%

KK

SoSotetede
RRRLK

< S
RS %S
0RRKLRS
SRS

190%%6%%

06
Q‘O

5
0062690599

Question 3 continued

S35

OS85

X 55
2620500050220 % 0% %%

<
(5%

55
05958

5%

doasasiese

V o 59

3.3 %
-

e
Pogs( s Y038
SN
fose!
SR
oo
e 3

R
RS

<
1094

o’

‘.
NS

KK

3
(8
0% )

2R

RRRRKLS

QO
RS

X
%!
IR
HYLS
<

X

SR
K
Ka k!
e
5e%!

0%
RS
= e
X
%

X

S3K

<X,
%

XX
XX RKX
QKL

%
XX

K

29
XS
fodotets
%
555
0%

L
X

5
8
292

"
o

<X
XX

096%%%
XX

IR
19.0,0.9.0°0.
020

0000000000 0. 900.0,9. 0.9

XX
XKL

UEESEEOECO0S

¢
X
%

KKK

X
09020000090 00909:9:9.9:%%

LRERLRLRRRLRLRLRS

XX

218 Pearson Edexcel Level 3 Advanced Subsidiary GCE in Further Mathematics - Sample Assessment Materials -
Issue 1 - August 2017 © Pearson Education Limited 2017



S
990 « atel
el
LS

0090900
L0
CREEY S
NRITE
LRI
SRR RR

9%
Baset
S
S X
KRB
SRR
SRS

7

Question 3 continued

(Total for Question 3 is 10 marks)

Pearson Edexcel Level 3 Advanced Subsidiary GCE in Further Mathematics - Sample Assessment Materials -
Issue 1 - August 2017 © Pearson Education Limited 2017

219




( )
4. The discrete random variable X follows a Poisson distribution with mean 1.4
(a) Write down the value of
() P(X=1)
(i) P(X < 4)
(2)
The manager of a bank recorded the number of mortgages approved each week over a
40 week period.
Number of mortgages approved | 0 1 2 3 4 5 6
Frequency 10 | 16 | 7 4 2 0 1
(b) Show that the mean number of mortgages approved over the 40 week period is 1.4
1)
The bank manager believes that the Poisson distribution may be a good model for the
number of mortgages approved each week.
She uses a Poisson distribution with a mean of 1.4 to calculate expected frequencies as
follows.
Number of mortgages approved 0 1 2 3 4 5 or more
Expected frequency 9.86 r 967 451  1.58 s
(c) Find the value of » and the value of s giving your answers to 2 decimal places.
(2)
The bank manager will test, at the 5% level of significance, whether or not the data can
be modelled by a Poisson distribution.
(d) Calculate the test statistic and state the conclusion for this test. State clearly the
degrees of freedom and the hypotheses used in the test.
(6)
. J
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SECTION B

Answer ALL questions. Write your answers in the spaces provided
Unless otherwise indicated, whenever a numerical value of g is required, take

g=9.8ms™? and give your answer to either 2 significant figures or 3 significant figures.

A small ball of mass 0.1kg is dropped from a point which is 2.4 m above a horizontal
floor. The ball falls freely under gravity, strikes the floor and bounces to a height of
0.6 m above the floor. The ball is modelled as a particle.

(a) Show that the coefficient of restitution between the ball and the floor is 0.5

(6)
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(b) Find the height reached by the ball above the floor after it bounces on the floor for
the second time.
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(c) By considering your answer to (b), describe the subsequent motion of the ball.
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6. A small stone of mass 0.5kg is thrown vertically upwards from a point 4 with an initial
speed of 25ms™'. The stone first comes to instantaneous rest at the point B which is 20m
vertically above the point 4. As the stone moves it is subject to air resistance. The stone
is modelled as a particle.
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(a) Find the energy lost due to air resistance by the stone, as it moves from 4 to B

3)
The air resistance is modelled as a constant force of magnitude R newtons.

(b) Find the value of R.
(2)

(c) State how the model for air resistance could be refined to make it more realistic.
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[In this question use g =10ms?]

A jogger of mass 60kg runs along a straight horizontal road at a constant speed of 4ms™'.
The total resistance to the motion of the jogger is modelled as a constant force of
magnitude 30N.

(a) Find the rate at which the jogger is working.
3)

The jogger now comes to a hill which is inclined to the horizontal at an angle a, where
. 1 . : o .
sina = 5 Because of the hill, the jogger reduces her speed to 3ms™' and maintains this

constant speed as she runs up the hill. The total resistance to the motion of the jogger from
non-gravitational forces continues to be modelled as a constant force of magnitude 30 N.

(b) Find the rate at which she has to work in order to run up the hill at 3ms™.

6

J
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Question 7 continued

(Total for Question 7 is 8 marks)
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8. A particle P of mass 3m is moving in a straight line on a smooth horizontal table.

A particle Q of mass m is moving in the opposite direction to P along the same straight
line. The particles collide directly. Immediately before the collision the speed of P is
u and the speed of Q is 2u. The velocities of P and Q immediately after the collision,
measured in the direction of motion of P before the collision, are v and w respectively.
The coefficient of restitution between P and Q is e.

(a) Find an expression for v in terms of u and e.

Issue 1 - August 2017 © Pearson Education Limited 2017

(6)
Given that the direction of motion of P is changed by the collision,
(b) find the range of possible values of e.
(2)
(c) Show that w = %(1 +9e).
(2)
Following the collision with P, the particle O then collides with and rebounds from
a fixed vertical wall which is perpendicular to the direction of motion of Q. The
coefficient of restitution between Q and the wall is f.
Given that e = g, and that P and Q collide again in the subsequent motion,
(d) find the range of possible values of f.
(6)
. J
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Question 8 continued
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(Total for Question 8 is 16 marks)

TOTAL FOR SECTION B IS 40 MARKS
TOTAL FOR PAPER IS 80 MARKS

SRRRRKRL
é#?v?

%
2285}
S
KKK
K%
0008

&
pos
bo%eS
&5

KK
.:0
o

0%

95053
19%
S8
5K
X

Pearson Edexcel Level 3 Advanced Subsidiary GCE in Further Mathematics - Sample Assessment Materials - 233
Issue 1 - August 2017 © Pearson Education Limited 2017



